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Question ID : 630680420843
Status : Answered
Chosen Option : D
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Question ID : 630680420874
Status : Answered
Chosen Option : B




Q.3  Which marking media will give very clear lines but takes more time for drying than the other marking media?

Ans X A Whitewash
X B. Cellulose lacquer

X c. Copper sulphate

« D. Prussian blue

Question ID : 630680420832
Status : Not Answered
Chosen Option : --

¥ ol ¥ gemfefEE ¥ e FuE | HF @ 3 e 2
S X A S SEMTEEES

Ko arEgrere

v Emge

X0 ST

Question ID : 630680420892
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Chosen Option: C
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Question ID : 630680420860
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Chosen Option : A
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Question ID : 630680420840
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Chosen Option: B
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Question ID : 630680420852
Status : Answered
Chosen Option: B
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Question ID : 630680420930
Status : Answered
Chosen Option: D
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Question ID : 630680420867
Status : Answered
Chosen Option: D
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Question ID : 630680420828
Status : Answered
Chosen Option: D
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Question ID : 630680420825
Status : Answered
Chosen Option: D
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Question ID : 630680420893
Status : Answered
Chosen Option: C
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Question ID : 630680420844
Status : Answered
Chosen Option: D
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Question ID : 630680420901
Status : Not Answered
Chosen Option : --
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Question ID : 630680420846
Status : Answered
Chosen Option : A
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Question ID : 630680420935
Status : Answered
Chosen Option : B
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Question ID : 630680420908
Status : Answered
Chosen Option: C

Q.18

Identify the tool shown in above figure?
Ans & A Pneumatic blind rivetter

X B. Riveting pliers

X c. Lazy tongs

& D. Lever hand tool

Question ID : 630680420850
Status : Not Answered
Chosen Option : --
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Question ID : 630680420889
Status : Answered
Chosen Option: C
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Question ID : 630680420919
Status : Answered
Chosen Option: B
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Question ID : 630680420859
Status : Answered
Chosen Option: C
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Question ID : 630680420924
Status : Answered
Chosen Option: C
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Question ID : 630680420864
Status : Not Answered
Chosen Option : --
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Question ID : 630680420927
Status : Answered
Chosen Option: B
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Question ID : 630680420932
Status : Answered
Chosen Option: D
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Question ID : 630680420922
Status : Answered
Chosen Option: C
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Question ID : 630680420876
Status : Not Answered
Chosen Option : --
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Question ID : 630680420916
Status : Answered
Chosen Option : D
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Question ID : 630680420870
Status : Answered
Chosen Option: D
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Question ID : 630680420883
Status : Answered
Chosen Option: D
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Question ID : 630680420841
Status : Answered
Chosen Option: C
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Question ID : 630680420869
Status : Answered
Chosen Option: C
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Question ID : 630680420910
Status : Answered
Chosen Option: D
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Question ID : 630680420826
Status : Answered
Chosen Option: C
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Question ID : 630680420858
Status : Answered
Chosen Option : B
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Question ID : 630680420834
Status : Not Answered
Chosen Option : --
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Question ID : 630680420941
Status : Answered
Chosen Option : A

Q.38 As per the Indian Electricity Rules, which authority is primarily responsible for the inspection of electrical installations
in India?

Ans X A State Transmission Utility
« B. Central Electricity Authority
X c. National Thermal Power Corporation

X D. Bureau of Energy Efficiency

Question ID : 630680420905
Status : Answered
Chosen Option : B
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Question ID : 630680420865
Status : Answered
Chosen Option : A
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Question ID : 630680420890
Status : Answered
Chosen Option: B
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Question ID : 630680420877
Status : Answered
Chosen Option: B
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Question ID : 630680420836
Status : Answered
Chosen Option: D
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Question ID : 630680420868
Status : Answered
Chosen Option : B

Q44 The unit for measuring reactive power is:
Ans X A WA

X B. Watts

X C. Ohms

« D. VAR

Question ID : 630680420880
Status : Answered
Chosen Option : D
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Question ID : 630680420847
Status : Answered
Chosen Option : A
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Question ID : 630680420906
Status : Answered
Chosen Option: D

Q47 Identify the loss commonly known as load loss?

Ans X A. Constant loss
X B. Core loss
+ C. Variable loss
X D. Iron loss

Question ID : 630680420939
Status : Answered
Chosen Option: C




Q.48 Which type of switch is designed to control multiple circuits with a single action?
Ans A Double-pole switch

XA B. Multi-circuit switch

X c. Toggle switch

X D. Single-pole switch

Question ID : 630680420909
Status : Answered
Chosen Option: C
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Question ID : 630680420851
Status : Answered
Chosen Option : A
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Question ID : 630680420838
Status : Answered
Chosen Option : A




Q51 Identify one of the secondary cells?
Ans XA Silver oxide

X< B. Carbon-zinc

« C. Nickel-metal hydride

X 0. Alkaline

Question ID : 630680420903
Status : Answered
Chosen Option: D
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Question ID : 630680420904
Status : Answered
Chosen Option: B
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Question ID : 630680420884
Status : Answered
Chosen Option: C
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Question ID : 630680420848
Status : Answered
Chosen Option: B
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Question ID : 630680420872
Status : Answered
Chosen Option: D
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Question ID : 630680420923
Status : Answered
Chosen Option : A
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Question ID : 630680420862
Status : Answered
Chosen Option: C
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Question ID : 630680420920
Status : Answered
Chosen Option: C




Q.59 Which type of transformer is used to prevent the transfer of DC component from one circuit to another?

Ans X A Impedance transformer

X B. Power transformer
« C. Tsolation transformer

& D. Distribution transformer

Question ID : 630680420934
Status : Answered
Chosen Option : A
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Question ID : 630680420837
Status : Not Answered
Chosen Option : --
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Question ID : 630680420873
Status : Answered
Chosen Option : B
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Question ID : 630680420897
Status : Answered
Chosen Option: C
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Question ID : 630680420879
Status : Answered
Chosen Option : A
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Question ID : 630680420899
Status : Answered
Chosen Option: B
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Question ID : 630680420900
Status : Answered
Chosen Option: C
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Question ID : 630680420831
Status : Answered
Chosen Option: D
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Question ID : 630680420886
Status : Answered
Chosen Option : A
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Question ID : 630680420875
Status : Answered
Chosen Option: C
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Question ID : 630680420882
Status : Answered
Chosen Option: D
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Question ID : 630680420936

Status : Answered
Chosen Option: C
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Status : Answered
Chosen Option: D

Question ID : 630680420829
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Status : Answered
Chosen Option: A

Question ID : 630680420824
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Status : Answered
Chosen Option: D

Question ID : 630680420822
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Question ID : 630680420863
Status : Answered
Chosen Option: B
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Question ID : 630680420938
Status : Answered
Chosen Option: C
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Question ID : 630680420913
Status : Answered
Chosen Option : B
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Question ID : 630680420830
Status : Answered
Chosen Option : A
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Question ID : 630680420835
Status : Answered
Chosen Option: C

Q.79 f&w 9R & Wag A9 & UF TARIST FEOH TRSS @l § S JET FIo 5 BT FASs T § 3R
T AT W0 B F BT @ R S 3ar 27

e Ka ofdoT aarE A=
X B ey AF
X C fhers T A
v 0. giaad WHE A

Question ID : 630680420839
Status : Answered
Chosen Option: D
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Question ID : 630680420871
Status : Answered
Chosen Option: B
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Question ID : 630680420887
Status : Answered
Chosen Option : A
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Question ID : 630680420902
Status : Answered
Chosen Option: B
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Question ID : 630680420845
Status : Answered
Chosen Option: D
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Question ID : 630680420940
Status : Answered
Chosen Option: C
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Question ID : 630680420861
Status : Answered
Chosen Option: D
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Question ID : 630680420911
Status : Answered
Chosen Option: B
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Question ID : 630680420842
Status : Answered
Chosen Option: B
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Question ID : 630680420925
Status : Answered
Chosen Option: B

% v wgfed SF-5S SeaT FAwes A &, TR FE F AT 87
MK e FE T U TR

ve BT FE F AT AT H THA|

X C. T FHIT FT MM

XD e e & aET|

Question ID : 630680420888
Status : Answered
Chosen Option : A




00 SoaefET § ¥ FiF w1 haet 7T ged 3=oT 9U FIaT 87
X 9 do7 R RMS dog &1 s

x5 RMS 7z % fow stwa afea &1 g
v RMS Heg & 38d {58 ¥ 3|

X o. Fferrer T Ffafhar w1 AT

Question ID : 630680420878
Status : Answered
Chosen Option: B

W1 XLPE sfffera seeit & L' Far defiia war 87
Ans XA FrE

X B. 3i1geg

v C o=

XD &

Question ID : 630680420856
Status : Answered
Chosen Option: C

Q.92 UG Fmw & FT TN TR F A F iR = i FE #Uwas giEe awas S

A XA Sreedes sRT T
X B. OreldaTSel FARTSE
X o arferer de

« DI85

Question ID : 630680420853
Status : Answered
Chosen Option: C

Q.93 Which force is responsible for moving the pointer of an instrument in proportion to the current or voltage being
measured?

Ans X A. Magnetic force

X B. Damping force
« C. Deflecting force
X b. Controlling force

Question ID : 630680420928
Status : Answered
Chosen Option: C




Q.94 )\
[

FI¢ @rar T BIS 9t Hi @1 &, TorEer IoaeT aafier wamse 7 R S 32
s XA g o AT F Rw amseee

v 5 HieE H3ToE, 16A

X C. giere HT3EoIE, 6A

X o. zffeer fiew

Question ID : 630680420914
Status : Answered
Chosen Option : B

09 ST & ¥ #19 757 79 ¥ o3 U ¥ # Teied W @ 987
Ans XA- (_'ﬂgT

X B T g

X o [ gEsaaEs

¢ 0. PbO, &iF RiFdEs

Question ID : 630680420898
Status : Answered
Chosen Option: D

Q96 framt @ fre aae T 378 @ SX ASH 50 TFX F EF TATIT ST 17
Ans o ) TS A

B Ege gH

X C FIA H

X o. fHoer g8

Question ID : 630680420849
Status : Answered
Chosen Option: B




¥ e e I RNa S A T T

Ans o n e gfaRer areT T
Ks.ﬁ@ﬂﬂﬁﬁﬁﬁﬂﬁ@l

xc.wgganwa‘rmafragﬁﬁmé‘l
X0 drees wag & T TR 3Ea 9y

Question ID : 630680420866
Status : Answered

Chosen Option : A

Q.98 fat B & W T TR S F B s T R AT g a7 E R S
s on fEETSsET

X5 YETE =

X c. gfada e O
X 0. T

Question ID : 630680420833
Status : Answered
Chosen Option : B

Q.99 v FAT F 2400 FHF THF F FARTFAT A g1 A 3T 12 FoAl F I X W E A &
HAE & HEEIE 200 FAEA §, O FOT AL A AETF oA W g2

v g, it e SR 2400 &
X b g1, FIfe ol AT 2400 ¥ 3o geml
X c. @I, TR For THA 2400 F FH g

XD
&I, Fifh For oFH S 2400 &R Afhe HEAE T ¥ Al g

Question ID : 630680420921
Status : Answered
Chosen Option : A




Q.100 oyey i # ofc wfive R sieRes & goom & fow o swaer & wew sfbw s R S g
A KA Tw e & A

XB g U W &

Xc fer

VD TH o

Question ID : 630680420912
Status : Answered
Chosen Option : D

Q101 wize #r Tufy &, #i7 T ax Hee Sz & 07 W THT 77 T 99 Fe F [e a9 5557
T 87

Ans XA FEET AT
X B 3T AR
X c. ST IR
v 0 3% IR

Question ID : 630680420931
Status : Answered
Chosen Option: D

Q102 1)) 3 Delta connection, how are the windings connected?

Ans

X A Randomly connected.
X B. Start to start.

X C. End to end.

« D. Start to end.

Question ID : 630680420885
Status : Answered
Chosen Option: C

Q-103mﬁﬁmw#ﬁmmmﬂmwmmm§?
Ans X A mm

VB Fellg TE

xc. tl?-lgﬁq'ﬂ'ﬁa?l'

X 0. ZrgeT dFHT

Question ID : 630680420896
Status : Answered
Chosen Option: B




Q104 Féhr sl argsit Fr yeieale & FRUT Fi & o W F yane § A e gl e #
U HT A 32

s X a RfamR e
7B fawe Fefaas
X C. UoRaS
v 0. [FFer-Aee gsses

Question ID : 630680420895
Status : Answered
Chosen Option: B

Q105 yhich type of curve-cutting saws are commonly used for internal
cutting?

Ans X' A Fret saw
+ B. Pad saw
X ¢. Coping saw

X D. Compass saw

Question ID : 630680420827
Status : Not Answered
Chosen Option : --

Q106 i @ e yarer Bid #1 gl AR TEE W Qe F T wEY F a0 T §?
Ans X A rer T SEw

X B FFE F RS FTH

X C Fhe w1 TEE

o« D. Eﬂﬂﬁﬁ-’l’-ﬂﬂ'

Question ID : 630680420915
Status : Answered
Chosen Option: D

Q107 Ty s 77 SHEHHR 31 T A F TR T AT G A T FA B2
A XA faega TEHTHT

X B FT-3T TEPER

v O HTATHBIER

X D HTSHIA STHBHT

Question ID : 630680420933
Status : Answered
Chosen Option: C




Q.108 FiF-=r Traelr TUMET 39T 3= 8T F [T ST ST § ot SEA T Y e e 8@ g
&

e v FirteT weERET o
X B Ter HE

X c. geirate

X 0. ZASASHAC

Question ID : 630680420918
Status : Answered
Chosen Option: C

Q.109 g6 KV F 31t 3-Fhe ¥ F BT a7 Jit W fFF T T UG Faa F7 39arT 5 smar 22
A A Qe Feer

X B Thies sheel

x c. E;Q'E'Q'm

X 0§ e

Question ID : 630680420855
Status : Answered
Chosen Option : A

Q110 zfy &= %7 Fomer F @l AU I TWE TR & O TR heew e & ® e 2
Ans XA 0.5

X6 st

& C 1

XD 0

Question ID : 630680420891
Status : Answered
Chosen Option: C

UM renslts Qo & Furel & SN FUls ¥ g9y F Sl & Fu7 g7 32
M XA g giE I F FAT @ B

v 5 Ug FoAaI TEUT FAT g

X ¢ ug e @ e g

X ugﬁ%ﬂmﬁﬁmw%l

Question ID : 630680420894
Status : Answered
Chosen Option: B




Q.112

Ans

v A g% T3E FEa
X B GIE g
X c. P wse

X D. FEMHIT HIST

Question ID : 630680420823
Status : Answered
Chosen Option: B

U {57 TR & 30T F FIT TN I F A F 9 GHAT 87
Ans A PMMC 39eRI0T

X 8 ifeefrer sitg 39eRtoT

X c. PMMC 3R HfEeT 3¥Ra 3907 gt

X . UHT IS 30T FeTATH 8T &

Question ID : 630680420929
Status : Answered
Chosen Option : A

Q114 fraffEm & § i & 390 o &9 F w1y Fegy a0 wEifa & 9o S5l 1 wER
e o amenfta €7

Ans X A a ;I E]

X B FEZFAA TR T STHI0T
¢ C. SIS HG 3THI0T
X D. ZoFEIEfEsd ITHIOT

Question ID : 630680420926
Status : Answered
Chosen Option: C




W AC affe F gt beex e F ¥ 7 s R B2
A X A gomEr & et #r T

X B gumelr # gfatsareier afeg $Fr &

X c. farsrelr amqfa @ gatam

v 0. ATEATEF AT F TS AFT T I

Question ID : 630680420881
Status : Answered
Chosen Option: B

Q.116 z== It FaaT 22 KV |, 33 KV I & #mee &, 75 &1 092 & UG Faa & 0 a= aifea
SATH TETE A g e

Ans @A 1.05 m
XB 0.75 m
XCc 150 m
XD 09 m

Question ID : 630680420857
Status : Answered
Chosen Option: C

YV Prefef@a # @ #iF @ SRR # O TR A6 27
Ans X A SI3aAclISC
X B JASAIBR

v O TAERFT
XD EReH

Question ID : 630680420917
Status : Answered
Chosen Option: C

Q.118 meus eI & TEEHT & B aHdlr ot @7 @ e B & 39mer B smar ¢, Bwd 39 %
Tl 1 ST ofaei & HTY SEr ST 87

Ans X A Siiad AR TR BIEE (ONAF)
< B. Sifae AgRe arex s (ONWF)
o C. 3i1aeT HiT a1ex Feg (OFWC)
X D. sifael tiTE TaR At (OFAN)

Question ID : 630680420937
Status : Answered
Chosen Option: C




Q1 Srafafea & ¥ g aofls & e ot 3k gemr mee whe 2
XA FHEer Ak HRe

X B PVC wHfese

X c g R R

V0 3 Has FHae

Question ID : 630680420907
Status : Answered
Chosen Option: D

Q120 Which UG cable is generally preferred for the range from 22 kV to 33 kV?
Ans A Super tension cable

X B. Low tension cable
X c. High tension cable

X D. Extra high-tension cable

Question ID : 630680420854
Status : Answered
Chosen Option: D

Section : General Knowledge

Q121 oot Hrer T S e R T 1F i s e s e s b AR s & ¥
T 87

Ans @A 25
X5 27
xc.24
XD 20

Question ID : 630680420982
Status : Answered
Chosen Option: C

Q.122 e=fafae & ¥ 98 g @ 9 ¥ = a9 & #7fter o7 390 & fFw F v Teer gt & o=
LT &7

Question ID : 630680420965
Status : Answered
Chosen Option: D




Q.123 =z Ffger 720 HeT && T2 3 4 e & 97 w2 ¥ A 9fy @ & sudh ofy = @efe

e XA 165 BRE/EE
v510.8 AT/
X 17 FaEe
XD 128 fFar /e

Question ID : 630680420976
Status : Answered
Chosen Option: B

V1 emEs #r emd St A e gw @ Wt
XA peate

X B Thare

v ¢ ARETe

X D. grehr

Question ID : 630680420959
Status : Answered
Chosen Option: D

Q125 zfg A 7 3 e, B @ I R, 'C % ¥ Fs Ak D W e wor §, @ et
yierenfda & A Fr gem?

20A2C16B8D2=7

Ans XA 20
B 22
xXc 18
XD 16

Question ID : 630680420992
Status : Answered
Chosen Option: B




Q126 s xa e, o, s sk T ad A e e T A s en im w I s 7 £ &5
¥ = wA # ¥3 & oEn g OR W 38T ¥ A, orn % A AT gEy T W Oar ¥ A,
foew ik ol & @ 7 o1 ¥ ol uma o W wERd & o e 5 e AR oEy T W A
T 77

Ans XA TTET
X B HEAT

vC R
X 0. gae

Question ID : 630680420981
Status : Answered
Chosen Option: C

Q127 Fogex @1 fawafeia & @ e @ RaEw 7T § 2 H 9od T £
ANs o TTEIY

X & WY
v . AYe A
X . HFEYe fFamEw

Question ID : 630680421001
Status : Answered
Chosen Option: C

Q.128 #Fry oy Her OIS T Al T T 07 a4 & v Peseied & @ Fi9 wed few @ afarafa
FHEM?

55,58, 54, 57, 53, 56, 52, ?

Ans % A 50, 53
X & 53, 50
xc 51, 55
v 0. 55, 51

Question ID : 630680420989
Status : Answered
Chosen Option: D




Q129 2 ey 1959 &1 fFE T=T # U AR GEET TS TEAT F TUTTEAT F TE?

Ans

XA O
X B. 3caT 99l

X faEr
v 0 TTEAH

Question ID : 630680420955
Status : Answered
Chosen Option : D

Q.130 zfy ‘A" &7 3% 'werr, 'B' # HY =, 'C' # 3 S AR D F w o & etatad
HireaFa & A Far gem?
18A16C12B6D3=7
Ans oA 7
X5 g
#C 8
XD B

Question ID : 630680420993
Status : Answered
Chosen Option: C

U3 Crafefee & @ 59 aee & sRa & st S arar Ao S g Hi?

Ans A STATHT AMHE
X B =eT 9THS

X c @i emas
X . I[C ATHF

Question ID : 630680420948
Status : Not Answered
Chosen Option : --




Q132 Br 317 STEROT F 3TTET F T F 9T B F T W FT 0T
SeT © agFEsSHT gaE o e - ?

AN X A gar #r ot
x s fgam foeg
v e faega va

X 0. T HT y&ar

Question ID : 630680420979
Status : Answered
Chosen Option: C

1P ST vk 30T ¥ S TS & fhde AT & S 82

Ans A 3
X B. 1
xc 2
XD 4

Question ID : 630680420970
Status : Answered
Chosen Option : B

Q.134 m ﬁ- qﬁ- ﬁ;{ jq';sgﬁéjg\l(ﬂ-{ el 3algivl Hﬁ- %7
Ans X A Hﬁﬁ'ﬂﬁﬁ

v 5 fFEr 10

X c. e Heer

X 0. FifareT T

Question ID : 630680420998
Status : Answered
Chosen Option: D




QU3 T A TR IR R I R AT R TR s A g 5 =9 &
SfEfda w0 &2

X T B ¥ Rege B
v Tega F=r ¥ ifys F=

X ¢ eafy Far ¥ TS Far
x 0. faegga F=r ¥ et Far

Question ID : 630680420971
Status : Answered
Chosen Option : B

Q.136 grzq A 3T B v ¥ @ FHw: 6 3T 8 9 H uT g ¥ 9ET C =W 15 9 F @rel F AT B
fe dt TECt T @y @rer & o, o SR feae ger # e Ssee?

Ans XAQEI'E,'

40
X B =
27

XC 40 gE

40
WD —
9

Question ID : 630680420978
Status : Answered
Chosen Option: D

Q.137 ws @9 T s &, PEAR &1 RAEP 3 BEAR T RAEB fram =mm #1 33 =1z # CARE ¥
foram areem?

Ans X A ECAR
5 ERAC
X ¢ EACR
X D. EARC

Question ID : 630680420984
Status : Answered
Chosen Option: B




V138 et & & e fow st s a0 39anT 78 fr s 37
Ans XAWW

X B Fg FwEaaT

X o difear o

va.ﬁaaﬂagmaﬁnaa?‘r%ﬁv

Question ID : 630680420999
Status : Answered
Chosen Option: D

U g w7 R TRRT ¥ ¥ S @ AuiRe gar 22
M v U gERT S w= A R @ fRraa F e ¥
X B TE AT-REr F IoTEAr W AR 78 Far g
X ¢ IUTHA TEART S a= H A1 & REa # Fewr §

X 0. g qaEoiT ®RE W AT &ar

Question ID : 630680420964
Status : Answered
Chosen Option: C

Q.140

g gy RRfEa # ¥ B aee %1 Teas 9d 82
e K AdEE e

X B 3TeRfEcTeh 3o

VO ffFeF e

XD TRENF HFA

Question ID : 630680420966
Status : Answered
Chosen Option: C




Q141 3§ 1910 & @Tem & ThmrEr & REAfaRE F ¥ fFodr g doF seEEE § & 9
s XA o = v

v 8Ra T AgHEET

X C ¢ & JeT

X0 oqRa T e "

Question ID : 630680420946
Status : Not Answered
Chosen Option : --

Q.142

X & AT AT H

X =(12)2 x 24 + 6 + 42
Ans X A 4251

X B 8452

X C. 6632

¥ 0. 6954

Question ID : 630680420972
Status : Answered
Chosen Option: D

B frm st F e ¢ wue & Safee ol g & et
Ans s A Ha=g 75

X B 3@?&366

X c. HT=OE 81

X D. 3@?&378

Question ID : 630680420957
Status : Answered
Chosen Option: D




Q14 Crfafea & @ e a9 2023 ¥ v Rfeaw § a9 TR e §7
M v e e 3 T S

X B Al 3. " s Fafes FiEr

X c. Fomafzar Mfesa 3R ¥ SmEe

X0 ST BIE R FEE AgEd

Question ID : 630680420942
Status : Answered
Chosen Option : A

Q145 RPrafafas F ¥ #iF @ 3T awgser &1 anR A F1 39-Regew T ¥
Ans X A @Wﬁf“f

X 5. 33T Fhol

v o BT w=Fa

X 0. Frerhr Fhel

Question ID : 630680420950
Status : Answered
Chosen Option: D

U PrfefeT & ¥ i @ RweT 79 ol X # veE S

/) (A X

(X (1) (2 3) (4)

Ans A D
X8 3
Xc 4
X 0. 1

Question ID : 630680420986
Status : Answered
Chosen Option : A




Q.147 szl gereff = =g aferat & Areaw ¥ ol F B 3 & & S S § Sw 39 s9a
oy fodTor & v 9dw S siee wendt & TET & e e srar & 5 9 @ w=w s S

P
e v offseRa
X B oA

X C umARERY
X D. 379 TSUT

Question ID : 630680420968
Status : Not Answered
Chosen Option : --

8 o § O #iF @ Y sTuRa SR T 30T F6 87

Ans A q;i'-.qg
X B HSHTH
v O HRHTH
XD fF=r 10

Question ID : 630680420996
Status : Answered
Chosen Option: D

VY Crrfafee gy # fra fag 2

Ans A 12
X8 10
xco11
X0 9

Question ID : 630680420990
Status : Answered
Chosen Option : A




10 ea ¥ TyH IWSEAY HiT A2
M va o TE U

X B. FUTHA

xo @ & By
XD.ETEITﬁ-WEﬁ?I'

Question ID : 630680420956
Status : Answered
Chosen Option: C

Q151 smes @ & ge & & 100% F=A 3T qeg Tt & BT v 7E & A 4w G g 9
i frw arlre & o frar o ar?

o 14 SeTE 2023
X B 14 3TEa 2023

X c 21 s 2023

XD 21 HITET 2023

Question ID : 630680420958
Status : Answered
Chosen Option: D

Q.152 T ow eET UF 3R 39ATH F HNR WET F § Fi TeAdrEe Heg # Saefidg eem?
s Ay e T - EE o e 3 st SR
e on dere
XB.Q:E.H
7 C FFgEH
xo.;jﬁé‘

Question ID : 630680420980
Status : Answered
Chosen Option : A




Q153 mrite e gaRT AR SR Afer TEe (AIWC) $r T Hv & 7 92
Ans XA 1921

< B 1897

X c 1889

¢ D. 1927

Question ID : 630680420947
Status : Not Answered
Chosen Option : --

U DT F ¥ FiF O SHEdW FT 3EEI0T A8 &2
Ans V’Aﬁﬁ

X5 AfRarer

X ¢ dre T

XD.'I'—;'@'?

Question ID : 630680420994
Status : Answered
Chosen Option : A

Q.155 At = ¥ F AT F vw @Y FH A FEf F ow @y g Peag = # w9 aamer
§=¢ T &gl A 2

Ans XA h_
X B RITH
X c. @drg

¢ D OTFEaTT

Question ID : 630680420995
Status : Answered
Chosen Option : A

W el F @ HF @ 78 IRgE ¥ 78 e 32
AE X A grHtER

X B. Il

¢ C. T

XD.ﬂEUﬁET

Question ID : 630680420962
Status : Answered
Chosen Option : A




Q157 gy o srfreier Shra-ofeq et gaRT FR S TEr S § 3 T FES 2
Ans o A ot

v B ey

x o HermeEH

X 0. Foerer

Question ID : 630680420967
Status : Not Answered
Chosen Option : --

Q158 ifdes wrer & gferwe et onfder @ §1 fPrmfafaa & @ wiw aferwe gee 7@ 32
Ans X A NOT

+ B NOR

X c OR

X< b AND

Question ID : 630680420997
Status : Answered
Chosen Option : A

Q1% Crafef@e & @ agwsa & Fi9 @ R WA TOR0T F AT Far §?

M v uffeeaT
X B ArErEhaT
X ¢ TFRITERIT
X 0. FERITERI

Question ID : 630680420951
Status : Answered
Chosen Option : D

10 g afafEd & & 59 757 F1 vF Tga dET 5 79 82

Ans X A gTITOT
X B TTEATH
X C g e
N?D-E'-:I'R"lﬁ?;

Question ID : 630680420961
Status : Answered
Chosen Option: D




Q.161 frm #sfies o o BWF faes dsfifes dftmmRm 2023 & o9 wea & Fieg 5% aifaw fomar &2

e X T Fomy
X 8. feheTer sfepra
v ¢ THUH U
XD oeEg Jel

Question ID : 630680420943
Status : Not Answered
Chosen Option : --

VO oaRRE § O Fi o1 SR Resw w1 e a6 ¥
A X sfiftewa Rt I (3iEBM)
X b EHIT FAET AT Tga (THIHSHIHN)

X . 3ifCewe AT J=T (3NTHAIR)
v 0 ATFH

Question ID : 630680421000
Status : Answered
Chosen Option: D

Q163 grmE 1 FET oo AERRT § ¥ FuaRs ¥ R sRe i
s A NN

X B. FAET
X c. FTFHES
X o gar

Question ID : 630680420963
Status : Answered
Chosen Option: C

¥ 6, 8, 24 T Tt A FAT E?
Ans XA 44

X5 48

& C 32

X0 36

Question ID : 630680420974
Status : Answered
Chosen Option: C




Q.165 srchar wfaers & Fi @ ¥eog FelF F THE TAEAT HN ! § FAA TEOT F FErT 82

XA 3RS 18
v b A= 14
X c. TG 21
XD 3-1?!;-_&}3'22

Question ID : 630680420953
Status : Answered
Chosen Option: B

V1 Fo HAER e F ¥ FE aRAT e & e 7

Ans & A m
X B F@AF

X C AT
X 0. T

Question ID : 630680420949
Status : Answered
Chosen Option : A

Q167 'z g 3T oT=: AE 310 ¥E &7 P TIFAW" AHE JEah & OTF Fi §2
S CCENE LTI

X o frd St

X C e T A

X 0. Qfgufr 3P

Question ID : 630680420944
Status : Answered
Chosen Option: A

Q.168 vw faffwa e amor &, CHIP #r DIJQ 3T HIDE #r IJEF frr =iar &1 =8 iz & BITE &= fomn
FCE?

ans X A CJFU
X & JCUF
v ¢ CJUF
X 0. JCFU

Question ID : 630680420985
Status : Answered
Chosen Option: C




Q169 = w= # &ifedr, W e AR fte & @ 6: 120 14 F 3ea & §| 57 @ & FAw 30%,
40% 3R 60% T FT TFAT ¢ FEr gE W F HAS FT gR?

Ans  wA 39:84:112
X8 37 :80: 102
Xc 42 :83: 114
XD 40 :82: 119

Question ID : 630680420975
Status : Not Answered

Chosen Option : --

Q170 Rr=fafem # ¥ Frpee # frw 0w # st A ¥ S oF @ T ROl F dw # g e 32
e XA TeETREET
v b TEATERAT
X ¢ HAEFERIT
X 0. oAfTERIT

Question ID : 630680420952
Status : Answered
Chosen Option: B

U7 Crafafes & ¥ &9 39 oy AR BReed sfums i B o

ans XA 1911
v5 1908
xc 1915
X 0. 1905

Question ID : 630680420960
Status : Not Answered
Chosen Option : --

Q172 giam = 470 T90& 913 &= &7 &7 § 20 &3 el i, 599 30A A 93 T R TH H W T
o= T&am| Hepr gfaerd @ 4T an?

Ans A 72 %
XB 55 %
xXC 6.20 %
XD 6.9 %

Question ID : 630680420973
Status : Not Answered
Chosen Option : --




Q173 Which article deals with abolition of untouchability in Indian constitution?

Ans X A Article 21
X B. Article 22
+ C. Arficle 17
X D. Article 16

Question ID : 630680420954
Status : Answered
Chosen Option: C

U7 Gratefea & @ #ia @ Twer g7 ofy X # weEE w=em?

X (D (2) () (4)

Ans XA
X B 2
xc 3
0 4

Question ID : 630680420987
Status : Answered
Chosen Option: D

Q175 Which among the following deficiency disease is caused by lack of iodine?
Ans X A Rickets

« B Goiter

X C. Beriberi

X D. Scurvy

Question ID : 630680420969
Status : Answered
Chosen Option: D




Q176 oy <% RegmrR & s @ e iEe s w5 oy gar o

Ans XA 1850
« 5. 1856
X c 1869
XD 1861

Question ID : 630680420945
Status : Not Answered
Chosen Option : --

W77 firs #r Tt F TE # 38 3T ¥ B e Feng ¥
Ans X A arér

X B H|T

« C Egd

X D 71T

Question ID : 630680420983
Status : Answered
Chosen Option: C

Q.178 zfy =1 =ufag & frArv/mer & s=rg 12 frAv/Her & afy ¥ Toar &, o 98 24 B 3fds == 3
IR FRT T F IS IS g4 8

Ans KA 44 T
v 5 48 R
X c 36 faFar
X0 32 fFT.

Question ID : 630680420977
Status : Answered
Chosen Option: C
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Question ID : 630680420991
Status : Answered
Chosen Option: D
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Question ID : 630680420988
Status : Answered
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